% [
we| w7 ® @ B [eu]az
/N RO 7L v 001217 | b | T8
AN\ |No.17. 14151 E 101214 | R# | 148
a N -
| | |
* @
| | |
* R
i 16=-1F U E)
1 I I
A= 8 19 A | |
® z — : A
@ = o BHLZ—2
L -2 A\[21[EwnT SCM 435 | 1
' 20[ #AzT v b V/#6500 | 1 | 7v72x2tk
NEEED V/#N133 | 1s| Ju7axab
/A[17[FETY R SS400 |2
16| ABFv R |SS400 | —
/A[1a[@agkvr [ssa00 |2
13[ SAR SS400 | —
12|0v 273y b SS 400 1
n[E_ 2 C2600P | 1
10[3-22U-J | CAC 406 | 1
9 = SUS403 | 1
8| /Sy *v®A_ | FCD450-10] 1
7| #EAAE | SUS403 | 2
6| AimfAmE | SUS403 | 2
5|AvKAE_ [FC200 | 1
A —10] 1
] N Ohat b ke NEER: FCD450-10
— . 2[5 % FCD450-10] 1
_7 /{ $JIS B 2239 16K 115 = FCD450—10] 1
1% 725 v 9 A | # | UTH K| BN n B
v S L Y 2| ® K | M M x| &3
? B % B W =
€ | d| L| D] c|No|h|wo| g |f|t|H |d2]| ¢ |DI|H]|H (kgf)
50| 50178155 [120] 8 [19 [M16| 96 | 2 [ 16100 |LTw20] 57 [ 180 [ 263 | 351 14 % 2 4| BRRR F16K
65| 65191 [175[140| 8 [19 [M16 | 116 | 2 [18] 115 |LTw20] 71 [ 200 [ 296 | 400 20 ¥ % V_5 D
80| 80]203[200[ 160 8 [23|M20[132 | 2 [ 20120 |LTw24| 87 [ 224|340 | 464 24 & 2 = VT
100 [ 100 [ 229[225[185[ 8 [23 [M20][160 | 2 [22] 141 |LTw26] 108 | 250 [ 400 | 545 36 ; I5VIF  HH
125|125 | 254 [ 270 [ 225| 8 | 25[M22[ 195 2 | 22] 170 |LTwes| 133 | 280 | 473 | 647 50 E 57941’253;(*
150 ] 150 [ 267 [ 305 [ 260 | 12 [ 25 [M22[ 230 2 [ 24 ] 190 [LTW30[ 160 | 300 | 558 | 764 71 Lo o= a4
200 ] 200 [ 292350 [ 305 [12 [ 25[M22[ 275] 2 [ 26 240 [LTwsz] 211 [ 355 [ 703 | 965 108 il f
a)ITE#RAS4 | SO—1098 A




